St Catherine’s School

Year: 12
Subject: Extension I Mathematics
Time allowed: 2 hours

(plus 5 mins reading time)

Date:  August 2002

“ ,é{f;!)\anc; /<¥i g

Exam number: (25 20 04

Directions to candidates:

All questions are to be attempted.
All questions are of equal value.

All necessary working must be shown in every question.

Full marks may not be awarded for careless or badly arranged TEACHER’S USE ONLY
work. Total Marks
Approved calculators and geometrical instruments are required. A

B

Each section should be started on a new booklet.

Hand in your work in 3 bundles: C
Section A Questions 1 and 2.
Section B Questions. 3 and 4
Section C Questions. 5, 6 and 7.

TOTAL




Section A

Question 1

3
Use the table of standard integrals to find the exact value of I &
0 Q 4-x*

2
Find 4/ sin™V1-x 2
7
Evaluate Z(3n -1) l
n=3
xy Y *l ”2-
Let A be the point (-6,2) and let B be the point (4,7). Find the coordinates of the point P, which
divides the interval AB externally in the ratio 3:2.
£ L 2
Is x—2 a factor of x* + 3x—14? Give reason for your answer.
2

2
Use the substitution u= x> -1 to evaluate 3 f xvx*-1 dx
i

Question 2

)

flx+ h}z"‘f (*) 4o find the derivative of
2

Let f(x)=2x*+x. Use the definition f '(x) =lim

y=f{x).

2x
b) @ Find J.Sieudx ° :

d)
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by
iiy  Evaluate I sin?(3x) dx 3
0
i) Write down the expansion of tan(A+B) !
ii) Hence find the value of tan 105° in simplest surd form. 2
4
Solve for x; ——=21
5~ 3
1




Section B (Start a new booklet)

Question 3
a) Write the expansion of (2x =)’
b)  Find the term independent of X in the binomial expansion (x* +2)° 3
c) The function f(x)=x—2sinx has a zeronear X = 1.7. Use one application of Newton's method
to find a second approximation to the zero. Write your answer correct to three significant
figures.
3
d) A smooth piece of ice is projected up a smooth inclined (sloping) surface. Its distance X in
metres up the surface is at time t seconds is x=61—1".
i) Find velocity, v, and acceleration, X. 4

Use your answer from (ii) to explain whether the piece of ice is increasing in speed or

decreasing in speed when t=2.
iv) Find when and where the piece of ice is stationary.

Ly

i In which direction is the ice moving and in which direction is acceleration whent=2
1ii)
ol

Question 4

a) i) Given that x> +4x+13= (x1+ g)? +b?, find the values of a and b.
@ Use the result of (i) to find j' —-2———!——— z
X +4x +13
b) The volume, V, of a sphere of radius r mm is increésing at a constant rate of 200mm’* per
second.
4

i) Find dr when r=50.
dt

i) Determine the rate of increase of the surface area, S of the sphere when the radius is 50
mm. :
( = 5= 47zr2J
3

@ A particle, whose displacement is x, moves in simple harmonic motion.
Find x as a function t if: 5
% =-16x and X =+/3 and x= 12 whent=0.
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Section C (Start a new booklet)
Question 5

*4 \)l “L 3!-

P(2p,p*)and Q(24,9%) are two points on the parabola x* = 4y. The variable chord PQ is such

a)
that it is always parallel to the line y =x.
. Find the gradient of PQ and hence show that p+g=2 !
7). Given that the equation of the normal at Pis x+ py =2p+ p°. Write down the equation
\ of the normal at Q, and hence find the coordinates of the point of intersection R, of these
P normals.
e Prove that the locus of R is the straight line x—-2y+12=0.
b) A garden sprinkler is positioned at the centre of a large, flat lawn. Water droplets are projected
from the sprinkler at a fixed speed of 20ms and at an angle, &, above the horizontal. The

acceleration due to gravity is 10 ms™2.
Use integration to show that the horizontal displacement x metres and the vertical

i)
displacement y metres of the water droplets is after time ¢ seconds are given by 2

x=20tcos® and y=20¢sin® —5¢
if) Show that the horizontal range, R, of the water droplets is given by R=40 sin2%. 2
’} (i)  The garden sprinkler rotates in a circle to water the lawn. If the angle of projection varies
e between 15° and 45° above the horizontal, find the exact area of that part of the lawn that
2

can be watered in this way.

Question 6

@ The acceleration of an object is given by a= 12¢% m/s/s. If the object leaves the origin with a
velocity of 2+/3 m/s and its velocity is always positive, find the displacement when the velocity

is Sm/s, correct to two decimal places. i

b) i) Find the general solution to the equation sin2x = 2sin’ x. 3
i)  Show thatif 0<x< »;—’, then sin2x > 2sin’ x >
1i1) Find the area enclosed between the curves y =sin2x and y= 2sin x for 0<x S%

3
Please turn over for question 7
[
{
{
¥
_ f ’ :_;,‘.‘:Z
3
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Question 7

a) In a flock of 1000 chickens, the number P, infected with a disease at time t years is given by
1000

= W where k is a constant,
e

{zi % Show that, eventually, all the chickens will be infected.
ii) Suppose that when time ¢ = 0, exactly one chicken was infected. After how many days

will 500 chickens be infected?
it has displacement x metre from a

2
-x : 2 g
and acceleration, a ms™. Initially

b) A particle is moving in a straight line. After time, t seconds

fixed point O on the line, velocity, v ms™' given by v=

the particle is at O.

i) Find an expression for acceleration in terms of x. !

. 2 1 1 . .

ii) Show that 7= + and hence find an expression for x in terms of z. 3
1-x* 1+x 1-x

the initial conditions for displacement, velocity and acceleration and hence

(i) Describe
ng whether it moves to the left or the right of 3

describe the motion of the particle, explaini
O and whether it slows down or speeds up.

What is the limiting position of the particle ?

2

End of examination

Year 12 Extension 1 Trial examination 2002




T Hwd . ; .l\w\.v«\

l ] : [T
VAV G ,\sﬁ/\x\wﬁ@ | T eonz.

_ ™
T 14 :
t- s
. _ ﬁ Hm_‘. ; ] ) L =
o . .
4 . . @ =€ 15
. o:!m.l%c\w\ =271 . - - he ANUNII.IHNIIMH .aﬂ.ﬂmn.. .
i . N N vy ﬁ, MmO
*P RSO | \ﬂm Ry e < Xt txw =
S 1 / : - ’ ’ (o
[s===3] ——o—7—— - . Rald LG AR
LS a *p A‘X.ans.w R/ (s : . . . :
x-Sz b n\.. o OL: =
-~ ) . i - . . @ L €ev |
L e Fruemrusgs () 7z 6
Gprpenbo njoq, 2+ A. 27 m,u t\ - @ ] A 5
. m*..x . Qﬁm - . i - R . | . . ll‘s\“ﬂ! = IH
. *y _
s 2l e - g 2y, e
VL —5 . . . ‘o J = =
. SV I oHLAw 7 ’ :
OHAN V0P A el QoHLIw
1 e \\.\K* = %J @ : " N.ﬂ = ‘A X..._Ml\ X~/ T :
g €| T e TR
@ u@# @DA PR A ) LT : . . .
° Wy, >
. v oty ST w <oy B AR . : \h\u& S50 = 4&\@9
: i ¢ s
T\q.nbﬁhl ¢ o (1 r w2+ iw > ..1:\»_ =n § - .
! ‘o . _ £ 22a o o €7 ¢ N
ST 9 . R -
| A\Vﬂ ) > * OAIV. _ Ay v c Nlu\n.vu N\N N. = A..I\I,—\ = JﬁNﬂ\
P ’ ‘ 2 - ! i ]
|N\.‘..ﬁ J.‘Q\n\.MN < k- n.(h .. YAy VE .f\“ _ ) . X ¥ a vw‘\\m ﬁﬂ. » N((.M = %3
A 4 XOlL=-ST < AKIMNJ. ; V ..lx;.(“lﬁ .acy m, (.\\K.NU..”W ’ rp n«.#n.l\rm. N . - -
- MR Al AR Al "z = ) *C= T ) ( T -
B . - - H = ] 7 y‘l\Vﬂln o
PN - - 3 . (o )
m.mk.un ﬂ!\.\«u < ?«\\@ T >- o&x () o (-x =% xp I=3%f % .\,m N.* - (-1) = *=tp o= ey
uv-c.w viteg ﬂc.\t\&n mo earlIw w7~ (ymy ™1 = ./ . ) * = x—lp v YH g
4= - TS Yys e
Er-Tez 1% Jm. (p :  rveny, '
RS TN Ty raye s xR ¢ M2 = i e .
T ook T T e D - ) W et aapep e or (o) - ,
50 ~27 cogemp _ g | (y+9 + (s¥7 yrg #7 )7 = ST o @ hrth
Mwﬂ 4 - ) * x, \ = = a
s | T @ PG T
(St eagpea < (5o * Ht 4wz < () . ‘
“ \,.Su* . z \u. (v pr-(B)g +(2) = (E)g. @ ws - 7 ws - i
. . - !
! Qm h/~—TEtg Tk \rynm : .
G RYA 1 Gy )wot (- T g ee) - T R/
s AR s g i R/ - ngrec J\l%{ v ¢ (Z-%) u: (» o %/ _ws| = Y (>
. i , ; ”
:



,:bum ry da
My P g e
n.\u/\g*sww LTI TR
-4 o
Y (6)s
L= (t)y=x
- . tg=4
. 32 9
Nﬂ:&hg

—
>
-~

oz X MM gV,

(99\.“0.«#? (v
vro -X PV % .

Fercvronp 3 7y (m

(bpeysver)

~mp P
Cov 7y ¥i 5 weymgrny
Tzeaa T

sfve g 4vRa
g it Corron 30 Tt o

e :
(e)e-9=

> o

Ty (n

T-e x
2z-9 % (1
e

A. Tm

©

g rboc)

sssggIesed = (1) F %y
2gpze€8T-0~ & (L) f (Y ]
1
. oy oy Lo

9y

s >TE &7+ h:&ou l.chm
et (fAds 4

x o3 t ﬁh...ﬂb# - rr/\x0~ Tt khl -

npse) €00 =

@ mw;
)
ey

‘L Lzsrb- 1\ *
X Tt =

b0
Thes *L
ﬁ&..\b~\,
——— - L
@ @t

2 -1 = A.Q.\ , \W
H) X522z ~ | :
9 . ST nﬂ,&\\ o \.\J\X\.ﬁ

\

e and 2% POy q\.cJ
Qhz =
A Y rA’ St = @
I e : :
+> 9 Sz

)

A7 -1l
]

- >

ador i (N EBar 5 e
Mnﬂepkwii%(ﬂverIMh aniN\M“.IV nVV *dﬁlﬂ@;hlu I-.U.W " -ﬂ!NNMhIV .W + &AXNVLASMQ bW .I-M.A“.I .XN.V

CyE-u

9

¥ z
> uu

()32,

W

(<) &),

.kueAMxv v.ﬂ..w.mV er "

]
-
.___.:-“‘..-. e — _

®

=~

x..nv + uh\.n

{w

;
d



. @ .za%?m, bper 4

T Oaz .\SN\F

N

e W¢wdm
- ﬂﬂ.il@ R
t.w;

o

w =d

(LS

ﬁ,mklﬂ 3 N«\m; dv -

— " bl_ .
(Lo d)bi
o u.a@& &-\* x
ﬂk‘xﬂu ze B4, ﬁm:o? x |
s (BBl d)d L n ~
@ Porjoes b wua}.:m

z=b1 41

fglw =

((brbd e d)(bd)s (bd), = (B9)
’ I nk.» ‘VNI dr = bb-ha
’ - 0d
@ MP, I

d o yvwacy

|3

o)} mo.\.* o bva\i.ﬂ
¢ 7 ey (o

dn\NJ‘«\ :,-
LN
b+d = /
z
bad =
(b-J)

(4+IX%-d )=

Ar - ¢
ﬂ\r.idk = GL:

R LT T (

3 %I (bad) - ¥ .
N*.d\v.‘\r.\,‘ak = h <= wﬁ)a@h

&

[ 9 ~yumnp)

@+apyes T =7 o0

o s |
@ﬁw )3 @97 - ok e ‘
Qegr =v o a4 Ec/m ,
= T
L:vo.w.am >
S
!
ar ?&Cb..\.
A0 = e
l.w@ . . AUQ.‘N—.
€~ i
o () h < oooe] .,
o ;
T oS =y nmm ] <
W viIs v IM.. ...W.an iy n«k&;@
»®Ssoc2 = §g -
.\M).{:h ¢ w.lg ﬁz\v)\ﬁw. \,IQ o H\IN Hw.ﬂ —
> visvh - = ® . “pP AP \»‘nv
L~ i
- P XJ.(..-XJ(Z\ \..N\.‘ule} A ~ \M
b : I L
@ Visroul Loxy B q\, T av
~ ) R S auys \bxw
< .
V=% L=%x_ ©e3 g g
w s nx,:..\v.n.> Cn@
730 T % .
0] (#44V) vo8 wuez %
o n o F-
— — \MM Y
' mmr Tepx | xgme x L T T -
L~ P ie | F (9, v - GT(JHN . B

© © PRI e mh.

-2 1
asxg = P
Lqas " i N \
T x dig = xp i “\
@ po Y 20
wp X sp sp
. 7
o @ 2 losx) = b+ (24 ) @
‘u3 = 5 =Gt lorx) = ) L??II.R.V

a4y ~ g (] Q

2Tt Cors)sCrrap 4 2 (v

LT




b3 vﬁ.«a\

&@ 8l-0 =
2 2 . x,
R I R
A Y
"7 = mw’\w\ b\
o - kA v > e YT
Sk s
M.a oﬁ T =
@ 4 ,.a g °
A\\Hn. 2 A w7 = s

o W
% <) (Kas) 742 =
luvm\ﬂ A .-
= ,\,A.ﬁoA - - ’
“l A A &\mq,%u&(@ oca Pty
A\w.“ .vnNUN\ .#l = A
I @ v =t
Cs o
e 4 =gy
\U*NQ.N\VN.\ x z/
>t ng\ = ém«\.ﬂv
“esa osn ]
@ D2t LU = 4
o+ XNU“ = AT
r

2% = \a.\_\\n.& 5&%

(AE) oy <v by

= 9 Qv RAPICe = NU ,
o h g o Nm&.mv smoz] = o

ox3 ¥°
Ty 4+ 3-9smoT =

Zergsz e 5= b

o= N

©vsoz+ 3o = h

- 2.4
- S92 = X
vvg ﬁ ©
=T Oxq v ewv <) 32 =2 n.o.w D=3 ¢
'y +30- = h T = x
of- = h o=x
e ek ~po eyt sy

oze 2 H o7 ~w g w007y _
OWJ\G.Q}.“ xX L1 @ v AQQ&.Sﬂyhh
op=¥ 3 o) _ N ) (oL =900y = ()
b visop =2 oSH = o v (.7- ¢%N_u~\. as P (o
ez V'S OfF = ) .
W‘and‘ﬁ.\iﬁb?.u. =
| w5 guis ol = ©o i -
O Ws p < @302 0 =% ’ ;
O VISp =3 v ) . Y
e - ‘@
BVISh v 3 AT s g x.{{.Ao.&(od\
(- ovish)3s _ o ° o af MY vl we T
fs- evsT)? o= oc e s
. £ 23S ‘o e m, .(.._ A T !
V'S FOLF L FG- = ez — < ,
..ﬁe,ﬁmfﬁ...n :\ @ FOINDIT A .- ” i
. AM =




wbe gl = (£ (Fe 4]

Q.

. *0 Jo8uay o1 w 1 st uonisod Suntwi )] ] : “ \.AN(G Y + X - xzs09 T r\\a =
B + o x- = 1 4t Lo
._nmlle ‘ooé=] SY °]>X 10JuUmop > ST = 7 i e
R -— M T — - (=
Jurmofs a[nym 1y3u saow o3 sanunuos apored ay |, amw»e\ J = 30 ‘() A (XT3 RS E ~
— (1> x> 0 Joj sudis aysoddo bbb = : 0
9ARY © pUE 4 90UIS) UMOP SuIMOlS pUE | SWIG-( T - KA = wtag g )= _
- S 'y (d i
40 paads 1e 1y3u Sutsow * e st ajponred ay Afjenny 4 % e lbbb ! e vwey b - 2700 ﬁy Ty Q.w
1 G g JA b
u%oTNmtw 1 o= T ;
\/_ et 71 o5 S A A
SO 1 H
OO/ L
e 0 1 [
« $ s !
[ oes=d Ny > %7 0 =5 w
> : s C{(xwrs< on w
napor bbb ! (ewrs—sesm) WOy oy
Qo) = d T
bbb = = > x>0 XY Tt Txsooy Yoo
i
. oy _ > X0 N 0K X VIS ugs
! e00of = [ i
OV.&$~ .rJL (€73 (s.m.i.Nnth\J\ WS ¥ =
QoQ/
(un) ) QXIS - XEG NTIS7 = i
L e 1 AL
l=d !V o=7 7 N1 O K x VISZ = HZ g \??.cﬂ\o
\VN*.F‘».MN < Vq.qr\.w
- c ,
1-,2=(1+,5) 000] = m M XSO AT (i
i .
IX— 9= x4 ; t
e o+ i RO, W
.N = ll.,~ Qooy = :
X+41 4, Ve
x—1 s U L -
@@ H.%m U=z <° 25— e} ...Lu..k»l ~ P
== 30001~ v ~Yy /Uo7y ==
Wi 1%
0=9° 0=x ‘0=71 usym Qo] ! T — A
I+(x = 1)Ul = (x+1)u) =1 . e~ (I
rroxa _ow Ve 3 :
I 1T o= > - T
) X1 - z » 9 oo~ 7 e
R = e NS = HSey
- ¢ w X1 ap
P+ 7 0oe-F ; %= HVIS~ < SPT AP O= W wig
— X1 - ARIAVAH..T—V _ X-1 X+1 R [et<ey] Wy 190 . ;
N R ) R . ; = TEs RS ST
—_ ! i
W@ moops 2y 4 . R= VST w52 Wussz |
& = .»N; =0 - x-= 2 Y @\ T«/\woknﬁlmmm.\. =d waw oIS =335 Avigy
— x— x T 4 - Ty \
€ p ap & (Q\.\Q.JJN\M 43S a -0 2, WSZ = RZug l
== A—»\l—vm..ll;— :




